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Schematic for all simulations in problem 1:
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AC simulation shows gain peaking at 1GHz, with a gain of 9.5 (slightly lower than calc
due to slight resistive loading from 2™ stage)
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Start with a transient simulation with input of 3mV, and do a Fourier transform:
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Now we see that fund = 28.5 mV, 3™=3um, so HD3 =10 as predicted

Repeat the simulation for a variety of input voltages, and plot Fund vs the predicted fund
based on small signal gain:

It can be seen that the P1dB is at Vin=-30dB, or 30mV as predicted.



